— i B (AR

KETOAwW D 2RIFTHRES b —F XY BAEH

—F

D 1

-4 @ 1-3 @ 1-2

AalIER “F @238 © 24 (DEL4X¥HHWE§H

(1.23-1H)

AJOwvD KAINES —IA | KIS EBR | amtexyrouzu—x | amsexvr iz x| = [EXivnd
1| KigES—YA 2-0 2-0 g B 3 O 1
2| KESER B s 20 2-0 2 1 2
| mmreo k| ] ]

SIEE b o2 0-2 o2 |o|3]| 4
I xmeexy | ) ]

Py o2 -2 20 1 2 3
ERPAN - l\ @ 1_4 @ 1_8 @ 1_2 N SR =
HEEE 0 L D o @ oa O sy KEHEEEY

B43-H)

BOJOwD JN—=N) )T | wmrexvvovest | KSES — IB | ameexviosyve-z| P = [EX vl
A ATV 4 2-0 12 20 2 1 b4
xmeexor | o ] )

RITEro | e 0-2 20 |1|2] 3
| KinES—IB 21 2-0 2-0) 3 O 1
Ixmrexor| ) ]

TS o Pp— 2 =2 =2 O-2 O 3 4

R E—TFT XV
A= R ASESER
A-11{i1 A-2fi1
1
IN=NI X AES—IB
B-2{i1 B-11iI




—fis 47 - [ {45

Bl ]2 @D2-3 @1-3 B®1-2 XIEDZTNF—ADEH
G3—F)

EEE—2 | ABES—YA| DEEOST | AES—-IB| B = 51y

-

AES—YA 3-0 1 1 1 2

N

DIEFEDST 0-3 O-3 O 2 3

w

AMES—IB 21 a-0 2 O 1




ZNE (228)

XETOw D 2T THRES b — XY MED
MEERTR TRRAT — Y THEZTET,

— s WIE A Bk

#BA AB|E BHEFIBWL FOX|TE RNE|EE HI|(HE T |TE I&|HA R
S S5 |E0 T Bt |REITF|EBRSTF|hFE XF | IE(HK BF
kg BT (AL ME|(FBhicF (RS BES|REBTIVI|HE BT

saler 3#U—2 ©2-3 @1-3 @12 XFHEDBNRTPHEH

448 —2 M2-3(1) @1-42) @2-43) @1-34) B3-4(1) ©®1-2(3)% O AHBH
A3—F)
AJOwv2D 1 2 3 A B | IE fiI
TE % (JS—VUUR)
T K E HE R RES D) =2 | 2 1 L
Bl FIk ABES—Y)
2 RS ThREs—y| 2 <4 | & | &3] 1
B W wES-9)|
S w8 wE Towmes—y| 2 | 92 o | 2| 3
(BI— k) NBHANNE2O— ~EEE L2SET
BTOv 1 > 3 4 | | owm|E ©
AN AB (KES-—Y)
VIS E8E T OEESS ) 21|20 |12 211 2
>0 =E  ARESER
2 I SEELT T ou=s35] 172 =2 102103} 4
2 T— KES-—Y)
3 I FEmEE T oEEs5T] 02 | & 02| 1]2]| 3
IR = (JS—VUUR)
4 I ERSEE owmEs—y| &1 | 20 | ¢© 310 | 1
(BO—F)  MEHANNEAT— FEEE LSS
c7aws 1 > 3 4 || owm|E @
T2 BE  AES—Y) -
U IEE R RS D) 2 | WU 20|17 1 2| B
FE ORYE  (KBES-Y)
2 I EEAvE T GEEsTy)| 2° 201 20| 30| 1
B0 & CESES) |
S I Bx EE TmEs—y| 20| 92 29 (B [ 1] &
T Bwth REEEAVE
4 IEE e T SEEsSS ] 02 | 02| 02 o1 3| 4




R E—T A |

513
2t
24
WW
%
1
]

=4

s
Bl

1

=Y

BOE - HAEF
C-2fi1

A-11i1

EE

s
=Y

B-11i

FEK - KEBE
A-2fi1




th 4 5B A&

SEIES @2-3 @183 @12 XEHEHEOBNTF—A

(7-8-93—h)

Ris) =20 1 2 3 B | & |IBf
1 —A -1 g1 20| 1
2 Rep -8 2-1 1112
3 —$B {s2 12 oO|2]|3

hEA 4 2 [HAE
BT70v D 2FTHRE H—T X bAED
s 1N TS B4 S sy

(10+11+12+133—H)

ATJOvD 1 2 3 4 s IEfT
1 —BA 2~1 2~ 251 3 1
2 SRAATPA e 2-1 0-3 1 3
3 AepB 1-2 1-2 0-3 0 4
“ —pC 12 3-0 3-0 2 2

AEIER @2-3 @1-3 Q312 XBHEHSOBNTF—A

(14-15+1603—1H)

BB 1 2 3 B | & |IBhI
1 RPA 1-2 3-0 1112
2 —hB &1 3-0 2 10| 1
3 SRAAHB 0-3 0-3 O|2]|3




R E—TF X |

—PA | —pC
A-1f1 A-211
APA —B
B-211 1 L B-1fi1




AolIEE

113—H)

®2-3

b4+ T FEAE

XETOv DU b= Ay FEISES

No. E &

il

I

[T

1TIE B

(=g

1

g eadr»

7

L /,
2| Be
FARN)

0

xTF

(K

.

3| &% TE

(RAES

3

(1230—F)

@1-3

1| K% Bz

(—d»

2| $REB =R

(REA)

NI EANvs)

3| #JIl  BAMD

oP

133—1F)

&
el

(K

(=

g eOdo

(=

(140—F)

=)

@1-2 XBHISFHEDIRVEF

C-3iu

Rl

i

(=9

===\

2| &t

1

(Ko

NEEN]w)

3|

Y | R

il

(REAGD

BN
g

o

(153—K) _
B &= [ =®
1 |98 BxR| D
2 | {ERAKfER | K
3 | UEE 5| G
(163—1H)
FE ZEB |-Gy
2 |\ B
1 | B8 TEHR| (R
173—t)
1 WL ER| G
2 |8 FRE|
3 |8l EL| cam
(183—H)
1 | 2B P
2 | KR¥E FZE| KD
O 230 | -crmay-

g eOdm

JeOdm

NEQEANIO)

geOdT




NP EAND

g eO\dmw

24 B FE A

KETOv I 1R —F XY REITED

@1-2 XBHFFHEDBEF

AalEE @23 @1-3
(7T3—1H)
Nof K% & P & IEfI
1| R J|RE| (K 1
2| €% EWm| P | 2
3| B BN - | 3
=y 2
B-3fi1
e
52
81—
1| B8 KH| - | 1
2| EEE—BR| (K | 2 .
3|y BZE| | 3

(93—H)

Bl £ & Pt A
2 | I 2| (Kb |1
1 |#m8 XKE| B |2
3 | EBmBZE | (P |3
103—k)

2 | FE K| b |1
1 | 88K BX| 9 |2
3 | EF%F K| & |3

g ecOdO

NEGEiN]v)



INEE B FEAS

KETO YD 2RI THRE b —F A MER

HelERE (3A) @2-3 M1-3 d1-2 HKEBHIIHAESDIVEF
(183—H)
ATJOvD 1 2 3 Bl 8| IBf:
e K3 B "
1 s RS SRR 3-0 3-0 210 1
ERAKEEERS . "
2 (BBB/BEEHRESERND) 0-3 3-1 1 1 2
=4 HEH= N P
S | hEiE T REE R 0-3 1-3 Ol 2| 3
193—H)
B7ZOwvwD 1 2 3 B | 8 | IBfiz
=24 E=E ; B
1 (BBEB/EEHRESERAMND) 3-0 3-0 2 O 1
TS - -
2 CED SR 0-3 3-0 T =
3 SRR 0-3 0-3 o|l2]| 3
(BRBEEHMESEIRAND)
(203—H)
© B 1 2 3 4 B | 8| Bz
B B= N _ -
L e e e 3-1 3-0 3-0 3|10 1
FH 2N ~ _ N
2 GRS TES 1=-38 3-0 3-0 2 1 2
TR % - - -
8 Iippshtassnar 03 0-3 3-0 112] 3
505 ) - -
4 essenrssmar 03 0-3 0-3 Ol 3 4
HEIERE (40 D2-3(1) @1-4(2) @2-4(3) @D1-3(4) ©3-4(1) ©1-2(3)
¥ () NO¥FEHEH
R E—F A |
fﬁaﬁjﬂﬁ BERE
A-11i1 C-11i1
=Y
B-11{iz
BNFA I . e RASETSER
B-21i1 . BEEY =8 1 A-2 {1
i1
FHEN ? BEIEE
C-2f B-11{i




